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6.66
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6.66
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3.14

16.47
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26.13

38.35

64.48

76.86

61.65

138.51

19.44

66.21

85.65

32.22
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206.58
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6.66
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E 5 B | {RE IR
m m m m m m I‘ﬂ3 m3 I‘[l3 m3 m; m3 I‘[l3 m3
M409-4-1-1 0.90 | 3.704 0.04 0.03
1 @B 409-1 M409-1-1 44.60 0.90 | 2.578 | 3.141 0.15 0.16 124.5 103.8 9.2
M409-1-1 0.90 | 2.558 0.04 0.03
2 @B 409-1 M409-1-2 40.80 0.90 | 2.275 | 2.416 0.15 0.16 87.2 68.3 11.3
M409-1-2 0.90 | 2.255 0.10 0.10
3 A& Bh 1409-1-5[ M409-1-5-1| 27.90 0.90 | 1.717 | 1.986 0.24 0.24 47.4 7.1 25.1 39.5
M409-1-5-1 0.90 | 1.466 0.10 0.10
4 A& Bh 1409-1-5| M409-1-5-2| 57.60 0.90 ] 1.692 | 1.579 0.24 0.24 76.7 45.3 76.7
M409-1-5-2 0.90 | 1.466 0.10 0.10
5 A& Bh 1409-1-5] M409-1-5-3| 47.80 0.90 | 2.320 | 1.893 0.24 0.24 77.1 8.1 43.0 68.1
M409-1-5-3 0.88 | 1.466 0.10 0.10 23.3 13.3 23.3
6 A& 8h 1409-1-3] M409-1-3-1| 22.90 0.60 | 1.489 | 1.477 0.24 0.24
M409-1-3-1 0.88 | 1.466 0.10 0.10 4.7 42.7 4.7
7 A& B 1409-1-1{ M409-1-1-1| 73.30 0.60 | 1.497 | 1.481 0.24 0.24
8
M409-4-1-1 0.90 | 1.768 0.04 0.03
9 Him| 409-3 M409-3-1 3.70 0.90 ] 1.655 | 1.711 0.15 0.16 5.6 3.8 1.4
M409-3-1 0.90 | 1.655 0.04 0.03
10 [ Hiph| 409-3 M409-3-2 11.10 0.90 | 1.466 | 1.560 0.15 0.16 15.2 10.0 4.1
11
M409-4-1-1 0.87 | 1.466 0.10 0.03 3.1 2.1 0.8
12 Bl | 409-2 M409-2-1 3.10 0.60 | 1.466 | 1.466 0.10 0.17
M409-2-1 0.88 | 1.466 0.10 0.03 15.3 10.5 3.6
13 Bl | 409-2 M409-2-2 15.00 0.60 | 1.491 | 1.478 0.10 0.17
M409-2-2 0.87 ] 1.466 0.10 0.03 9.8 6.7 2.4
14 Bl 409-2 M409-2-3 9.70 0.60 | 1.468 | 1.467 0.10 0.17
15
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©) ¢ 150 +T
— e | EB U +T
— [ [ . g — — — -
vl NN I B IR R T = il L EARGEE) BT
2 | Ry & & | AIL ES| Mk 5 (ES e - y
*EF 5 A | Bl [RAE IR
3 3 3 3 3 3 3 3
m m m m m m m m m m m m m m
M409-1-5-3 0.90 | 2.296 0.10 | 0.10
16 | B )409-1-4 7.40 | 0.90 [2.190 | 2.243 | 0.24| 0.24 14.3 10.2 3.0
0.90 | 2.190 0.04 | 0.03
17 | Bih|409-1-4| M409-1-4-1| 0.70 | 0.90 | 2.348 [ 2.269 | 0.15[ 0.16 1.4 1.1 0.2
M409-1-4-1 0.89 | 1.466 0.04 | 0.03 6.6 4.3 1.8
18 | Eigh|409-1-4 6.20 | 0.60]1.467 | 1.466 | 0.15| 0.16
0.89 | 1.467 10.7 8.5 1.3
19 | Hiyh|409-1-4| M409-1-4-2| 9.80 | 0.60 | 1.468 | 1.467 | 0.10 [ 0.10
20
M409-1-3-1 0.87 | 1.468 0.10 | 0.10 2.7 1.6 0.9
21 | ffidh[409-1-2 2.70 | 0.60]1.476 | 1.472 | 0.24 | 0.24
0.90 | 1.476 3.9 2.8 0.8
22 | fiBh[409-1-2| M409-1-2-1] 3.50 | 0.60 [ 1.486 ] 1.481 | 0.10| 0.10
M409-1-2-1 0.90 | 1.466 32.2 22.8 6.9
23 | Hiph[409-1-2| M409-1-2-2] 29.20 | 0.60 [ 1.480 | 1.473 | 0.10| 0.10
24
25
26
27
28
29
30
k) 321.10 510. 90 6. 60 187. 30 4. 40 169. 40 302. 80 1.70
ait
B 95. 90 114. 20 79.98 25. 50
B 417. 00 510.90 | 120. 80 187.30 | 84.38 169. 40 302.80 | 27.20
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m m m m m m m3 rﬂ3
M409-4-1-1 0.60 0.700
1 @B 409-1 M409-1-1 44.60 43.55 0.45 40.0 3.55 43.38 0.525 13.32
M409-1-1 0.45 0.525
2 @B 409-1 M409-1-2 40.80 39.90 0.45 36.0 3.90 39.75 0.525 12.21
M409-1-2 0.45 0.525
3 A& Bh 1409-1-5[ M409-1-5-1| 27.90 27.00 0.45 24.0 3.00 26.85 0.525 8.25
M409-1-5-1 0.45 0.525
4 A& Bh 1409-1-5| M409-1-5-2| 57.60 56.70 0.45 56.0 0.70 56.55 0.525 17.37
M409-1-5-2 0.45 0.525
5 A& Bh 1409-1-5] M409-1-5-3| 47.80 46.90 0.45 44.0 2.90 46.75 0.525 14.36
M409-1-5-3 0.45 0.525 4.61
6 B [409-1-3] M409-1-3-1] 22.90 22.00 0.45 20.0 2.00 21.85 0.525
M409-1-3-1 0.45 0.525 15.24
7 A& B 1409-1-1{ M409-1-1-1| 73.30 72.40 0.45 72.0 0.40 72.25 0.525
8
M409-4-1-1 0.60 0.700
9 Bl | 409-3 M409-3-1 3.70 2.79 0.31 2.79 2.69 0.310 0.83
M409-3-1 0.20 0.200
10 FEAH] 409-3 M409-3-2 11.10 10.59 0.31 8.0 2.59 10.59 0.310 3.25
11
M409-4-1-1 0.60 0.700 0.44
12 Bl | 409-2 M409-2-1 3.10 2.19 0.31 2.19 2.09 0.310
M409-2-1 0.20 0.200 3.01
13 Bl | 409-2 M409-2-2 15.00 14.35 0.45 12.0 2.35 14.28 0.525
M409-2-2 0.45 0.525 1.87
14 Bl 409-2 M409-2-3 9.70 8.94 0.31 8.0 0.94 8.87 0.310
15
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) ¢ 150 FARET
a ANFLIHE GEaE
7 g | BE | AL | Az T IETE
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M T M M m M M l'l'l3 m3
M409-1-5-3 0.45 0.525
16 | Bijh|409-1-4 7.40 6.95 4.0 2.95 6.88 2.11
17 | Bl 409-1-4| M409-1-4-1 0.70 0.25 0.45 0.25 0.18 0.525 0.05
M409-1-4-1 0.45 0.525 1.20
18 | BAjH|409-1-4 6.20 5.75 4.0 1.75 5.68
2.00
19 | B 409-1-4| M409-1-4-2 9.80 9.49 0.31 8.0 1.49 9.49 0.310
20
M409-1-3-1 0.45 0.525 0.35
21 | ffidh[409-1-2 2.70 1.80 0.45 1.80 1.65 0.525
0.45 0.525 0.52
22 | iliBh[409-1-2[ M409-1-2-1 3.50 2.60 0.45 2.60 2.45 0.525
M409-1-2-1 0.45 0.525 5.98
23 | Bl [409-1-2[ M409-1-2-2| 29.20 28.44 0.31 28.0 0.44 28.37 0.310
24
25
26
27
28
29
30
fitiBh 321.10 | 312.85 292. 00 20. 85 311.48 85. 36 0.87
Gt
Hifh 95. 90 89. 74 72. 00 17. 74 89. 09 20. 74
N 417.00| 402.59 364. 00 38.59 | 400.57 85. 36 21.61
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® $ 150 +HT
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. AL _j:J%’I (iéﬁ@%_ﬂiﬁ&ﬁfﬁﬁzf) LE&_.#EHM TE&.%*_&E _ T (R Bk b ) T
v x| w ® gl mel| e B H=2.00m H=2.50m H=3.00m H=3.50m H=3.80m
x5 R H=2.00m|H=2.50m| H=2.50m|H=3.00m| H=3.00m|H=3.50m| H=3.50m| H=4.00m| H=4.00m|H=2.00m|H=2.50m|H=3.00m|H=3.50m|H=4.00m|  1B% 2B% RIE
m m m m m m m m m m m m m m m m m m
M409-4-1-1
1| #HBh] 409-1 | M409-1-1 | 44.60 44.60 44.60 44.60
M409-1-1
2 | 4L 409-1 | M409-1-2 | 40.80 40.80 40.80 40.80
M409-1-2
3 | 4#85]409-1-5| M409-1-5-1[ 27.90 27.90 27.90 27.90
M409-1-5-1
4 | 48] 409-1-5| M409-1-5-2[ 57.60 57.60 57.60 57.60
M409-1-5-2
5 | #iBh]409-1-5| M409-1-5-3| 47.80 47.80 47.80 47.80
M409-1-5-3
6 | 4#iBh]409-1-3| M409-1-3-1[ 22.90
M409-1-3-1
7 | 4#85]409-1-1| M409-1-1-1[ 73.30
8
M409-4-1-1
9 | Hijk| 409-3 | M409-3-1 3.70 3.70 3.70 3.70
M409-3-1
10 [ | 409-3 | M409-3-2 | 11.10 11.10 11.10 11.10
11
M409-4-1-1
12 [Hh| 409-2 | M409-2-1 3.10
M409-2-1
13 [ Hh) 409-2 | M409-2-2 | 15.00
M409-2-2
14 [ Hh| 409-2 | M409-2-3 9.70
15
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$ 150 +HRT

TRT (RREMRARGRE ) EERAIE TERRE .
7 ALIH — R = SlEa B T (RS S %) KT
v ol w ® | g we| o BH H=2.00m H=2.50m H=3.00m H=3.50m H=3.80m
% = peag  [1=2.00m|H=2.50m| H=2.50m| F=3.00m| [=3.00m| H=3.50m| H=3.50m| H=4.00m| H=4.00m|H=2.00m|H=2.50m|H=3.00m| 1=3.50m|H=4.00m 1B% 28 RIEY
m m m m m m m m m m m m m m m m m m
M409-1-5-3
16 | Hijh|409-1-4 7.40 7.40 7.40 7.40
17 | Bf|409-1-4| M409-1-4-1| _ 0.70 0.70 0.70 0.70
M409-1-4-1
18 | Eifh|409-1-4 6.20
19 | B |409-1-4| M409-1-4-2|  9.80
20
M409-1-3-1
21 | #lidh[409-1-2 2.70
22 | ffiBh[409-1-2 M409-1-2-1] 3.50
M409-1-2-1
23 | Bgh[409-1-2| M409-1-2-2| 29.20
24
25
26
27
28
29
30
14. 80 8. 10 14. 80 8. 10
A B 321. 10 14. 80 8. 10 57. 60 75.70 40. 80 44. 60 14. 80 8. 10
- 133. 30 40. 80 44. 60 133. 30 85. 40
ait
Ll 95. 90 133. 30 40. 80 44. 60 14. 80 8. 10 133. 30 85. 40
LN 417.00 72.40 | 83.80 40.80 | 44.60




©) ¢ 150 EEEEEL K OMRIEIH T

v

W WERVEL RN T
N )Egggﬁ e [ 2 Bl WERVEL L OIS a0 (13)] B |70 (13)| e ee] T ] 2 (13)| FJb ] T pai] 20 (13)
FEg#Elt<15cm| 15cm<t t=3cm |t=16cm| t=3cm [t=15cm|t=14cm| t=3cm [t=17cm|t=15cm| t=3cm
m m m m m I]'l3 m3 m3 m3 mz mz mz mz m3 m3 m3 m3 m3
M409-4-1-1 0.90 0.90
@B 409-1 M409-1-1 44.60 0.90 89.20 1.61 40.14 40.14
M409-1-1 0.90 0.90
@B 409-1 M409-1-2 40.80 0.90 81.60 1.47 36.72 36.72
M409-1-2 0.90 0.90
A& Bh 1409-1-5| M409-1-5-1| 27.90 0.90 55.80 2.51
M409-1-5-1 0.90 0.90
A& Bh 1409-1-5| M409-1-5-2| 57.60 0.90 115.20 5.18
M409-1-5-2 0.90 0.90
A& Bh 1409-1-5] M409-1-5-3| 47.80 0.90 95.60 4.30
M409-1-5-3 0.88 0.88
A& Bh 1409-1-3] M409-1-3-1| 22.90 0.60 45.80 2.00
M409-1-3-1 0.88 0.88
A& Bh1409-1-1{ M409-1-1-1| 73.30 0.60 146.60 6.42
M409-4-1-1 0.90 0.90
Bl | 409-3 M409-3-1 3.70 0.90 7.40 0.13 3.33 3.33
M409-3-1 0.90 0.90
10 [ Eiph| 409-3 M409-3-2 11.10 0.90 22.20 0.40 9.99 9.99
11
M409-4-1-1 0.87 0.87
12 Bl | 409-2 M409-2-1 3.10 0.60 6.20 0.27
M409-2-1 0.88 0.88
13 Bl | 409-2 M409-2-2 15.00 0.60 30.00 1.31
M409-2-2 0.87 0.87
14 Bl 409-2 M409-2-3 9.70 0.60 19.40 0.85
15
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¢ 150 EHHEEHERL K OMRAEIH T

. LR B LI EL &R T
7 N o s | HEENE [ 5= Gk EEEIREEL e O F 45y e (13)| WM | #E (13)| HEag| TR e (13) | FEEk| TR EE03) | B
g | Koy B &AL | Wk
x B FERAE| t=15cm| 15em<t t=3cm [t=16cm| t=3cm [t=15cm|t=14cm| t=3cm |t=17cm|t=15cm| t=3cm | t=10cm
3 3 3 2 2 2 2 3 3 3 3 3 3
m m m m m m m m m m m m m m m m m m
M409-1-5-3 0.90 0.90
16 | Hjh|409-1-4 7.40 0.90 14.80 0.67
0.90 0.90
17 | Bl 409-1-4| M409-1-4-1 0.70 0.90 1.40 0.03 0.63 0.63
M409-1-4-1 0.89 0.89
18 | BAjh|409-1-4 6.20 0.60 12.40 0.22 5.49 5.49
0.89 0.89
19 [ B 409-1-4| M409-1-4-2 9.80 0.60
20
M409-1-3-1 0.87 0.87
21 | 4ifh[409-1-2 2.70 0.60 5.40 0.24
0.90 0.90
22 | #liBh[409-1-2| M409-1-2-1]  3.50 0.60
M409-1-2-1 0.90 0.90
23 | Bl [409-1-2[ M409-1-2-2| 29.20 0.60
24
25
26
27
28
29
30
fitiBh 321. 10 635. 20 23. 49 0.24 76.86 76.86
Gt
Hifh 95. 90 113. 80 3.88 19. 44 19. 44
N 417. 00 749. 00 23.49 | 4.12 96.30 [ 96.30




@ ¢ 150

(7

8 IH T

. o }@FEE #E3)| AR | BRAR |28 (13) | Er| TRE R 208 (20) | £E (20)| R i (20) | 3 (20) | bR | Fhapkax| Feim (13) | RRepkax| FREpa| sl

Koy| & & |AFL FH| HREE o

t=3cm|t=17cm|t=10cm|t=5cm|t=13cm|t=14cm|t=>5cm|t=>5cm|t=24cm t=>5cm|t=>5cm|t=10cm|t=10cm|t=>5cm|t=10cm|t=10cm 5

m n’l2 n’l2 n’l3 n’l2 n’l2 n’l2 n’l3 n’l2 n’l2 n’l2 n’l3 n’l2 n’l2 n’l3 n’l3 n’l3 n’l3

M409-4-1-1

M| 409-1 | M409-1-1 | 44.60 1
M409-1-1

B 409-1 | M409-1-2 [ 40.80 1
M409-1-2

f#iBh [409-1-5| M409-1-5-1] 27.90 25.11 | 25.11 | 25.11 8
M409-1-5-1

1B [409-1-5| M409-1-5-2| 57.60 51.84 | 51.84 | 51.84 8
M409-1-5-2

1B [409-1-5| M409-1-5-3| 47.80 43.02 | 43.02 | 43.02 8
M409-1-5-3

f#iBh [409-1-3| M409-1-3-1] 22.90 20.04 | 20.04 | 20.04 8
M409-1-3-1

B [409-1-1| M409-1-1-1] 73.30 64.21 | 64.21 | 64.21 8
M409-4-1-1

Hiph| 409-3 | M409-3-1 3.70 1
M409-3-1

High| 409-3 [ M409-3-2 | 11.10 1
M409-4-1-1

High| 409-2 | M409-2-1 3.10 | 2.71| 2.71 5
M409-2-1

Hiph| 409-2 | M409-2-2 | 15.00 | 13.14 | 13.14 5
M409-2-2

Hiph| 409-2 | M409-2-3 9.70 | 8.47| 8.47 5
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©) ¢ 150
. AL IR T
7; kol o® L ®=e EE%EH #E3)| PR | B |3 | ke TR #E (20) | KE (20)| A FJ8 (20) | 38 (20) | LAz | Tz Fm (13) | ke | T A
£ = 7 E ? t=3cm|t=17cm|t=10cm|t=5cm|t=13cm|t=14cm|t =5cm|t=5cm|t=24cm t=>5cm|t=5cm|t=10cm|t=10cm|t="5cm| t=10cm|t=10cm| 5!
2 2 3 2 2 2 3 2 2 3 2 2 3 3 3 3
m m m m m m m m m m m m m m m m m
M409-1-5-3
16 [ Bh|409-1-4 7.40 6.66 6.66 6.66 8
17 | BSJh)409-1-4] M409-1-4-1 0.70 1
M409-1-4-1
18 | EiAH]409-1-4 6.20 1
19 | Bl |409-1-4| M409-1-4-2 9.80 6
20
M409-1-3-1
21 | #fidh[409-1-2 2.70 2.36 | 2.36| 2.36 8
22 | #iBh[409-1-2| M409-1-2-1|  3.50 3.14 6
M409-1-2-1
23 | Bl |409-1-2| M409-1-2-2| 29.20 26.13 6
24
25
26
27
28
29
30
AiBh 321. 10 3.14 206. 58| 206. 58 [ 206. 58
it
i 95.90 | 24.32 | 24.32 | 26.13 6.66 | 6.66 | 6.66
LN 417.00 ] 24.32 | 24.32 | 29.27 213.24]213.24213.24
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) ¢ 150 +T.
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T sl Lo el s | T s | \“ﬁw“ _ T ET R T
x5 Bl [(RAE IR
m m m m m m m3 m; m3 m3 m3 m; m3 m3
PEREM.411-1-1 0.90 | 1.480 0.10 0.10
1 | 4#Bh[410-2-5[M.410-2-5-1] 27.10 | 0.90 | 1.815| 1.647 | 0.10]| 0.10 37.7 26.4 8.4
M.410-2-5-1 0.90 | 1.815 0.10 | 0.10
2 | 4fiBh|410-2-5 8.70| 0.90| 1.711] 1.763] 0.10] 0.10 13.0 9.4 2.6
0.90 | 1.711 0.04 | 0.03
3 | 4#Bh|410-2-5|M.410-2-5-2| 7.80 | 0.90 | 1.617 ] 1.664 | 0.15]| 0.16 11.4 7.8 2.7
M.410-2-5-2 0.90 | 1.593 0.04 | 0.03
4 | 4#Bh|410-2-5|M.410-2-5-3| 10.90 | 0.90 | 1.705| 1.649 | 0.15| 0.16 15.8 10.7 3.9
M.410-2-5-3 0.90 | 1.705 0.04 | 0.03
5 | #iBh|410-2-5|M.410-2-5-4] 17.90 | 0.90 | 1.722 | 1.713] 0.15] 0.16 217.0 18.7 6.2
M.410-2-5-4 0.90 | 1.702 0.04 | 0.03
6 | 4#)|410-2-5|M.410-2-5-5| 16.90 | 0.90 | 1.733 | 1.717| 0.15| 0.16 25.5 17.7 5.8
M.410-2-5-5 0.90 | 1.733 0.04 | 0.03
7 | 4#85]410-2-5|M.410-2-5-6| 15.00 | 0.90 | 1.634 | 1.683 | 0.15| 0.16 22.2 15.2 5.3
M.410-2-5-6 0.90 | 1.614
8 | 4#iBh|410-2-6/M.410-2-6-1| 9.40 | 0.90 | 1.527 | 1.570 | 0.10 | 0.10 13.3 9.3 3.0
M.410-2-6-1 0.90 | 1.527
9 | #HBh|410-2-6/M.410-2-6-2| 8.90 | 0.90 | 1.496 | 1.511 ] 0.10] 0.10 12.1 8.4 2.8
M.410-2-6-2 0.90 | 1.496 47.4 33.7 10.0
10 [ High|410-2-6|M.410-2-6-3] 42.80 | 0.60 | 1.466 | 1.481 [ 0.10 [ 0.10
11
M.410-2-5-6 0.89 | 1.511 0.04 | 0.03 3.2 2.1 0.9
12 [ High|410-2-4|M.410-2-4-1] 3.00 | 0.60 | 1.466 | 1.488 [ 0.15[ 0.16
M.410-2-4-1 0.89 | 1.466 0.04 | 0.03 10.1 6.7 2.7
13 [ High|410-2-4|M.410-2-4-2] 9.50 | 0.60 | 1.488 | 1.477 [ 0.15[ 0.16
M.410-2-4-2 0.89 | 1.488 0.04 | 0.03 8.8 5.8 2.4
14 | High|410-2-4|M.410-2-4-3] 8.20 | 0.60 | 1.481 | 1.484 [ 0.15[ 0.16
M.410-2-4-3 0.89 | 1.481 0.04 | 0.03 17.8 11.8 4.7
15 | Hh410-2-4|M.410-2-4-4 16.50 | 0.60 | 1.496 [ 1.488 | 0.15 0.16
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3 3 3 3 3 3 3 3
m m m m m m m m m m m m m m
M.410-2-4-4 0.89 | 1.496 0.04 0.03 4.3 2.9 1.1
16 | Hih|410-2-4|M.410-2-4-5] 4.00 | 0.60 | 1.493 | 1.494 0.15 0.16
M.410-2-4-5 0.89 | 1.493 0.04 0.03 7.5 5.0 1.9
17 | Hl410-2-4{M.410-2-4-6]  7.00 | 0.60 | 1.466 | 1.479 0.15 0.16
18
M410-2-1-3 0.89 | 1.466 0.04 0.03 3.7 2.4 1.0
19 [Bh|410-2-2|M410-2-2-1| 3.50 | 0.60 | 1.474 | 1.470 0.15 0.16
M410-2-2-1 0.90 | 1.474 0.04 0.03
20 [ HigM[410-2-2|M410-2-2-2| 18.00 | 0.90 [ 1.781 | 1.627 0.15 0.16 25.7 17.4 6.4
M410-2-2-2 0.90 [ 1.781 0.04 0.03
21 [HigM[410-2-2|M410-2-2-3| 4.50 | 0.90 [ 1.495| 1.638 0.15 0.16 6.5 4.4 1.6
22
23
24
25
26
27
28
29
30
fHBh 122. 60 178. 00 123. 60 40. 70
ait
Bl 117. 00 51.70 83. 30 34. 30 57.90 13.70 19. 00
ERLN 239. 60 51.70 | 261. 30 34.30 | 181.50 13.70 59. 70
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m m m m m m m m3 m3

PEREM.411-1-1 0.20 0.200

1| #HBh[410-2-5|M.410-2-5-1] 27.10 | 26.59 0.31 24.0 2.59 [ 26.59 | 0.310 8.17
M.410-2-5-1 0.20 0.200

2 [1#Bh|410-2-5 8.70 8.50 8.0 0.50 8.50 2.61

3 | 4#Bh|410-2-5|M.410-2-5-2|  7.80 7.35 0.45 4.0 3.35 7.28 | 0.525 2.23
M.410-2-5-2 0.45 0.525

4 | 4#iBh|410-2-5|M.410-2-5-3| 10.90 | 10.14 0.31 8.0 2.14 [ 10.07 | 0.310 3.09
M.410-2-5-3 0.20 0.200

5 | 4#iBh|410-2-5|M.410-2-5-4| 17.90 | 17.25 0.45 16.0 1.25| 17.18 ] 0.525 5.27
M.410-2-5-4 0.45 0.525

6 | 4#iBh|410-2-5|M.410-2-5-5| 16.90 | 16.14 0.31 16.0 0.14 [ 16.07 [ 0.310 4.93
M.410-2-5-5 0.20 0.200

7 | 4#85]410-2-5|M.410-2-5-6| 15.00 | 14.35 0.45 12.0 2.35 [ 14.28 [ 0.525 4.38
M.410-2-5-6 0.45 0.525

8 | 4#iBh|410-2-6|M.410-2-6-1| 9.40 8.64 0.31 8.0 0.64 8.57 | 0.310 2.63
M.410-2-6-1 0.20 0.200

9 | #HBh|410-2-6/M.410-2-6-2| 8.90 8.39 0.31 8.0 0.39 8.39 | 0.310 2.58
M.410-2-6-2 0.20 0.200 8.92

10 [ High|410-2-6|M.410-2-6-3] 42.80 | 42.29 0.31 40.0 2.29 [ 42.29 [ 0.310

11
M.410-2-5-6 0.45 0.525 0.46

12 [ High|410-2-4|M.410-2-4-1]  3.00 2.24 0.31 2.24 2.17 | 0.310
M.410-2-4-1 0.20 0.200 1.90

13 [ High|410-2-4|M.410-2-4-2]  9.50 8.99 0.31 8.0 0.99 8.99 [ 0.310
M.410-2-4-2 0.20 0.200 1.62

14 | Higph|410-2-4|M.410-2-4-3]  8.20 7.69 0.31 4.0 3.69 7.69 | 0.310
M.410-2-4-3 0.20 0.200 3.37

15 [ High|410-2-4|M.410-2-4-4] 16.50 | 15.99 0.31 12.0 3.99 [ 15.99 [ 0.310
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m m m m m m m m3 1’1'13
M.410-2-4-4 0.20 0.200 0.74
16 | Bl |410-2-4|M.410-2-4-5 4.00 3.49 0.31 3.49 3.49 0.310
M.410-2-4-5 0.20 0.200 1.37
17 | Bl |410-2-4|M.410-2-4-6] 7.00 6.49 0.31 4.0 2.49 6.49 0.310
18
M410-2-1-3 0.20 0.200 0.63
19 [ Bh|410-2-2|M410-2-2-1 3.50 2.99 0.31 2.99 2.99 0.310
M410-2-2-1 0.20 0.200
20 | B {410-2-2[M410-2-2-2| 18.00 17.49 0.31 16.0 1.49 17.49 0.310 5.37
M410-2-2-2 0.20 0.200
21 | B {410-2-2[M410-2-2-3] 4.50 3.99 0.31 3.99 3.99 0.310 1.23
22
23
24
25
26
27
28
29
30
AiBh 122.60 | 117.35 104.00 | 13.35 | 116.90 35.89
At
i 117.00 | 111.65 84.00 | 27.65 | 111.58 9.46 16. 15
R 239. 60 | 229. 00 188.00 | 41.00 | 228.48 9. 46 52. 04
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@) 150 +HT
- AL iLEé.’I (ﬁé%ﬁﬁ%*{ia&ﬁ-fﬁzf) LE%:#E%J“&E TE&:_%*&E _ BT (R B ) SR
v sl e = o we| e B H=2.00m H=2.50m H=3.00m H=3.50m  [H=3.80m
%—? a *%%*i H=2.00m|H=2.50m| H=2.50m| H=3.00m| H=3.00m| H=3.50m| H=3.50m| H=4.00m| H=4.00m|H=2.00m | H=2.50m |H=3.00m | H=3.50m | H=4.00m 1B% 2B 3B
m m m m m m m m m m m m m m m m m m

BEREM.411-1-1

1 | 4diBh[410-2-5|M.410-2-5-1| 27.10 27.10 27.10 27.10
M.410-2-5-1

2 | 4#iBh|410-2-5 8.70 8.70 8.70 8.70

3 | HiBn|410-2-5[M.410-2-5-2]  7.80 7.80 7.80 7.80
M.410-2-5-2

4 | #liBh[410-2-5|M.410-2-5-3] 10.90 10.90 10.90 10.90
M.410-2-5-3

5 | #fiBh|410-2-5[M.410-2-5-4] 17.90 17.90 17.90 17.90
M.410-2-5-4

6 | #liBh[410-2-5|M.410-2-5-5| 16.90 16.90 16.90 16.90
M.410-2-5-5

7 | 4By |410-2-5[M.410-2-5-6] 15.00 15.00 15.00 15.00
M.410-2-5-6

8 | #4liBh[410-2-6]M.410-2-6-1] 9.40 9.40 9.40 9.40
M.410-2-6-1

9 | #4liBh[410-2-6]M.410-2-6-2] 8.90 8.90 8.90 8.90
M.410-2-6-2

10 [ High)410-2-6|M.410-2-6-3] 42.80

11
M.410-2-5-6

12 [ High)410-2-4|M.410-2-4-1] 3.00
M.410-2-4-1

13 [ High|410-2-4|M.410-2-4-2] 9.50
M.410-2-4-2

14 [ Hijh)410-2-4|M.410-2-4-3]  8.20
M.410-2-4-3

15 | Hh|410-2-4|M.410-2-4-4] 16.50
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T (BREIRIGRIE ) BB mEIRE TR RRE

= BA T (8% E 4 T
7;7 Koyl & | AFL ‘R }Eg%gﬁﬁ H=2.00m H=2.50m H=3.00m H=3.50m H=3.80m LE T (RN RATR) xR
& B ZLE 7 1;;% H=2.00m| H=2.50m| H=2.50m| H=3.00m| H=3.00m | H=3.50m| H=3.50m| H=4.00m| H=4.00m| H=2.00m | H=2.50m | H=3.00m [ H=3.50m|H=4.00m|  1E% 28% 3E%
m m m m m m m m m m m m m m m m m m
M.410-2-4-4
16 | B |410-2-4|M.410-2-4-5|  4.00
M.410-2-4-5
17 | B |410-2-4|M.410-2-4-6]  7.00
18
M410-2-1-3
19 [ BiM|410-2-2|M410-2-2-1| 3.50
M410-2-2-1
20 | i [410-2-2[M410-2-2-2]| 18.00 18.00 18.00 18.00
M410-2-2-2
21 | Hh{410-2-2[M410-2-2-3| 4.50 4.50 4.50 4.50
22
23
24
25
26
27
28
29
30
122. 60 122. 60
22. 50 22. 50
fitiBh 122. 60 145. 10 122. 60 145. 10
Gt
Hifh 117.00 22. 50
X 239. 60 145. 10
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BESE EEEREEL EIH T
kol & gl wBe }Eétgﬂ TRHINE | =)= ik HREERVEEL R Ty ([RE03)| B |2E 0| HEwe| ek e ) | Hexe| vexee| e as)
FREE#Et=15cm| 15cm<t t=3cm|t=16cm|t=3cm|t=15cm|t=14cm| t=3cm|t=17cm|t=15cm| t=3cm
m m m m m m:% m3 m:% m3 m2 mZ m2 mZ m:% m3 m:% m3 m:%
BEREM.411-1-1 0.90 0.90
8 [410-2-5|M.410-2-5-1] 27.10 | 0.90 54.20 2.44
M.410-2-5-1 0.90 | 0.90
8 410-2-5 8.70 | 0.90 17.40 0.78
0.90 | 0.90
8 [410-2-5|M.410-2-5-2| 7.80 | 0.90 15.60 0.28 7.02 | 7.02
M.410-2-5-2 0.90 | 0.90
8 [410-2-5|M.410-2-5-3] 10.90 | 0.90 21.80 0.39 9.81 | 9.81
M.410-2-5-3 0.90 | 0.90
8 [410-2-5|M.410-2-5-4| 17.90 | 0.90 35.80 0.64 16.11 | 16.11
M.410-2-5-4 0.90 | 0.90
i85 [410-2-5|M.410-2-5-5] 16.90 | 0.90 33.80 0.61 15.21 | 15.21
M.410-2-5-5 0.90 | 0.90
8 [410-2-5|M.410-2-5-6] 15.00 | 0.90 30.00 0.54 13.50 | 13.50
M.410-2-5-6 0.90 | 0.90
i [410-2-6|M.410-2-6-1] 9.40 | 0.90
M.410-2-6-1 0.90 | 0.90
18 [410-2-6|M.410-2-6-2] 8.90 | 0.90
M.410-2-6-2 0.90 | 0.90
Hijh|410-2-6/M.410-2-6-3| 42.80 | 0.60
M.410-2-5-6 0.89 | 0.89
B [410-2-4/M.410-2-4-1] 3.00 | 0.60 6.00 0.11 2.67| 2.67
M.410-2-4-1 0.89 | 0.89
High|410-2-4|M.410-2-4-2|  9.50 | 0.60 19.00 0.34 8.43 | 8.43
M.410-2-4-2 0.89 | 0.89
Hijh|410-2-4/M.410-2-4-3| 8.20 | 0.60 16.40 0.29 7.29 | 7.29
M.410-2-4-3 0.89 | 0.89
il |410-2-4[M.410-2-4-4] 16.50 | 0.60 33.00 0.59 14.69 | 14.69
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¢ 150 AHEEEEEL K OMRIE IR T

. LT B R EL &R T
T; kol w & gL Ee EE%EH PREIE | RfE i FERVE LR Oy | as)| B |8 03) | Lewig| PEs| 20E 1) | L | ek e 0s)| g
x B - Rt =15cm| 15em<t t=3cm|t=16cm|t=3cm|[t=15cm|t=14cm|t=3cm|t=17cm|[t=15cm| t=3cm|t=10cm
3 3 3 2 2 2 2 3 3 3 3 3 3
m m m m m m m m m m m m m m m m m m
M.410-2-4-4 0.89 0.89
16 | B )410-2-4|M.410-2-4-5|  4.00 0.60 8.00 0.14 3.56 3.56
M.410-2-4-5 0.89 0.89
17 | Hh|410-2-4|M.410-2-4-6 7.00 0.60 14.00 0.25 6.22 6.22
18
M410-2-1-3 0.89 0.89
19 [ BifH)410-2-2|M410-2-2-1 3.50 0.60 7.00 0.12 3.10 3.10
M410-2-2-1 0.90 0.90
20 | BiAh|410-2-2[M410-2-2-2[ 18.00 0.90 36.00 0.65 16.20 | 16.20
M410-2-2-2 0.90 0.90
21 | Eih|410-2-2[M410-2-2-3| 4.50 0.90 9.00 0.16 4.05 4.05
22
23
24
25
26
27
28
29
30
fitiBh 122. 60 208. 60 5. 68 61.65 | 61.65
Ait
Hifh 117.00 148. 40 1.72 0.93 66.21 | 66.21
R 239. 60 357. 00 1.72 6.61 127.86 | 127.86
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7 ALI A i et ﬁﬁ&aﬂg T et Rl | Al
& | Koyl & &AL Fe| HEE f e @ At
F B =10c t=14cm t=10cm|t=14cm t=10cm T
m m’ m2 m2 m2 m3
PEREM.411-1-1
1 | 4#Bh[410-2-5|M.410-2-5-1] 27.10 5
M.410-2-5-1
2 [1#Bh|410-2-5 8.70 5
3 | 4#Bh|410-2-5|M.410-2-5-2|  7.80 1
M.410-2-5-2
4 | ##iBh|410-2-5|M.410-2-5-3] 10.90 1
M.410-2-5-3
5 | 4#iBh|410-2-5|M.410-2-5-4 17.90 1
M.410-2-5-4
6 | #liBh|410-2-5|M.410-2-5-5| 16.90 1
M.410-2-5-5
7 | #liBh|410-2-5|M.410-2-5-6] 15.00 1
M.410-2-5-6
8 | 4#iBh|410-2-6/M.410-2-6-1| 9.40 6
M.410-2-6-1
9 | #HBh|410-2-6/M.410-2-6-2| 8.90 6
M.410-2-6-2
10 [ Hh|410-2-6{M.410-2-6-3| 42.80 6
11
M.410-2-5-6
12 | Bph|410-2-4{M.410-2-4-1] _3.00 1
M.410-2-4-1
13 | Bh|410-2-4{M.410-2-4-2]  9.50 1
M.410-2-4-2
14 | Hh|410-2-4|M.410-2-4-3|  8.20 1
M.410-2-4-3
15 | Hh|410-2-4|M.410-2-4-4| 16.50 1
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@ ¢ 150
. ALR AR IR T
75,_ kol w o g Ee EE%E-H ®iE13)| AR | AR | FE03) | HEki| e e (20) | i 20) | k| e e (20) | K 20) | | Fes| e (13) | e k| T
£ B 7 ? t=3cm|t=17cm[t=10cm|t=5cm|t=13cm|t=14cm| t=5cm|t=5cm[t=10cm|t=14cm| t =5cm| t=5cm|[t=10cm|t=10cm| t =5cm|t=10cm|t=10cm| FEH!
2 2 3 2 2 2 3 2 2 2 3 2 2 3 3 3 3
m m m m m m m m m m m m m m m m m m
M.410-2-4-4
16 | Biph|410-2-4|M.410-2-4-5] _ 4.00 1
M.410-2-4-5
17 | Biph|410-2-4|M.410-2-4-6] _ 7.00 1
18
M410-2-1-3
19 [ Bh|410-2-2|M410-2-2-1| 3.50 1
M410-2-2-1
20 | Hijm[410-2-2[M410-2-2-2] 18.00 1
M410-2-2-2
21 | ¥iAh[410-2-2|M410-2-2-3| 4.50 1
22
23
24
25
26
27
28
29
30
AiBh 122.60 | 32.22 | 32.22 | 16.47
A3t
Ul 117.00 38.35
R 239.60 | 32.22 | 32.22 | 54.82
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i D  ¢$150 15~y A — L HESE No.1
Uk - <k A oA Bl F AL JEE Wk [} B B OBE FEEI 7 | ANFLE [meeron| g9k (o] or] ek | mre
x5 o BRSO EERS %E| R’ 250/200 150/ 100| Jiit | 60 | 90 | 120 150/ 180f 30 | 60 90 | 120 150|180 30 | 45 60| 5 | 10| 15|71—25 T—14| 20~70 JERET| o | DI |250/200]150]  FlR
150 | 56.798 |0.020
M409-1-1| 59.25 | 2.472 | 150 |56.778 1 1 1 1 1 1 1 32 1 2
150 | 56.961 |0.020
M409-1-2| 59.11 | 2.169 | 150 |56.941 1 1 1 1 1 1 1 29 1 2
150 | 57.310 | 0.251
M109-1-5-1| 58.67 | 1.611 [150 |57.059 1 1 1 1 1 1 21 1 2
150 | 57.910 |0.226
M109-1-5-2| 59.27 | 1.586 |150 |57.684 1 1 1 1 1 1 1 46 1 2
150 | 59.290 | 0.854 | 100 150-1
M109-1-5-3| 60.65 | 2.214 [150 |58.436 | 150 | 58.460 |0.024 2 1 1 1 1 1 24 1 3
150 | 59.920 |0.023
M109-1-3-1| 61.28 | 1.383 [150 | 59.897 [150 | 59.918 0.021 2 1 1 1 1 1 1 43 1 3
M109-1-1-1| 62.96 | 1.391 [150 |61.569 1 1 1 1 1 1 51 1 1
150 | 59.960 |0.020
M109-1-2-1| 61.32 | 1.380 [150 |59.940 1 1 1 1 1 1 1 40 1 2
150 | 59.423 |0.024
m110-2-5-2( 60.91 | 1.511 [150 |59.399 1 1 1 1 1 1 1 21 1 2
150 | 59.544 |0.020
M110-2-5-1| 61.14 | 1.616 [150 |59.524 1 1 1 1 1 1 26 1 2
150 | 59.682 | 0.020
wi10-2-5-6 61.19 | 1.528 [150 | 59.662 | 150 | 59.785 0.123 2 1 1 1 1 1 1 38 1 3
Naf e i | A & fa| fE] =] & = RLOAL | fEAT mm | & &l
) 13 11 315 3 416 |15 3 6 5 11 371 11 24
o0 il &l | A L& | ] =] & = RLOAL | fEAT mm | T &l
Gt 13 11 315 3 416 1[5 3 6 | 5 11 371 11 24
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HA D  ¢$150 15~y A — L HESE No.1
U=V o~ wvk—M| B N mlE Bl L JEE AN [iEA 3 = ORE WYL | OAFLE | meeasn| FEE oo | BT o] FTESET Il
x5 s BRSO EERS %E| R’ 250/200 150/ 100| Jiit | 60 | 90 | 120 150/ 180f 30 | 60 90 | 120 150|180 30 | 45 60| 5 | 10| 15|71—25 T—14| 20~70 JERET| o | dF |250/100]150]  FlR
150 | 59.280 | 0.025

M409-2-2( 60.64 | 1.385 | 150 |59.255 1 1 1 1 1 1 1 45 1 2
150 | 59.370 |0.882 | 100 150-1

M109-1-4-1| 60.73 | 2.242 | 150 |58.488 1 1 1 1 1 1 52 1 2

g e i il & 1 1 AL fEPT mm | & &l

2 2 1 1 2 1 2 2 97 2 4

o0 il il L& 18 1l AL AT mm | & &l

Gt 2 2 1 1 2 1 2 2 97 2 4




LS

il D $150 25 v AR — LV EH B E

No.1
<=V S wvk—M| B E N Fl B Bl L JEE AN [iEA RE B ORE PR | ONFLE | mienan| FEEE | oo | SR T o] ATESHET FIE
x5 s BRSO EERS %E| R’ 250/200 150/ 100| Jiit | 60 | 90 | 120 150/ 180f 30 | 60 90 | 120 150|180 30 | 45 60| 5 | 10| 15|71—25 T—14| 20~70 JERET| o | DI |250/200]150]  FlR

150 | 58.860 |2.334 | 100 1 1| 150-4
savio--1] 60.22 | 3.694 | 250 | 56.526 | 150 | 58.859 |2.333 | 100 1 1 1| 150-4
150 | 58.558 |2.032 | 100 1 1| 150-4
Naf i BT &
3 1 3
preen T &l
ait 3 L 3
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B Avn'—=b = L3 AL vy |RE PR NILE
B | NILEE| MR VM FEHET
WA | A Ab—b HY RS S 0.3 0.6 09 1.2 15 1.8 2.1 2.4 2.7 3.0 250 150 [T—25T—14 T—8

410-2-5 |M410-2-5-1|  61.05 | 59.341 | 59.341 | 1.709 1 1 1 1
410-2-5 |M410-2-5-3|  61.06 | 59.461 | 59.461 [ 1.599 1 1 1 1
410-2-5 |M410-2-5-5|  61.23 | 59.603 | 59.603 | 1.627 1 1 1 1
410-2-6 |M410-2-6-1f  61.14 | 59.719 | 59.719 | 1.421 1 1 1 1
410-2-6 |Ma10-2-6-2|  61.14 | 59.750 | 59.750 [ 1.390 1 1 1 1
2t féi FT &l fiEl | & i il

5 5 1 4 5 5
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B Avn'—=b = LSz A S vy |RE PR NILE
BE | NLES| RS <V VI E?I:i T
W | A Ab—b HY RS S 0.3 0.6 09 1.2 15 1.8 2.1 2.4 2.7 3.0 250 | 150 [T—25T—14 T—8
409-2 |M409-2-1|  60.33 | 58.970 | 58.970 | 1.360 1 1 1 1
409-3 |M409-3-1|  60.12 | 58.571 | 58.571 | 1.549 1 1 1 1
409-3 |M409-3-2|  59.97 | 58.610 1.360 1 1 1
409-2 |M409-2-3|  60.70 | 59.338 1.362 1 1 1
409-1-4 |Md09-1-4-2|  61.58 | 60.218 1.362 1 1 1
409-1-2 |Md09-1-2-2|  62.75 | 61.376 1.374 1 1 1
410-2-6 |M410-2-6-3]  61.26 | 59.900 1.360 1 1 1
s i AT i A fiEl & i il
ait
7 2 5 6 1 2 7
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N B Avn'=h = LS 1L v | BRI IR LR
BE | ANLET| Ml VM ek
W | WA Abv=b Y EAL wAF (0306 09 1.2 15 1.8 2.1 24 2.7 3.0 250 | 150 [T—25T—14 T8

410-2-4 [m410-2-4-1| 6117 | 59.810 | 59.810 | 1.360 1 1 1 1
410-2-4 [m410-2-4-2|  61.27 | 59.888 | 59.888 | 1.382 1 1 1 1
410-2-4 [m410-2-4-3|  61.33 | 59.955 | 59.955 | 1.375 1 1 1 1
410-2-4 [m410-2-4-4|  61.48 | 60.090 | 60.090 | 1.390 1 1 1 1
410-2-4 |wa10-2-4-5|  61.51 [ 60.123 | 60.123 | 1.387 1 1 1 1
410-2-4 [m410-2-4-6|  61.54 | 60.180 | 60.180 | 1.360 1 1 1
410-2-2 |mmoz1s| - 62.37 | 61.010 | 61.010 | 1.360 1 1 1
410-2-2 [m410-2-2-1) 6239 | 61.022 | 61.022 | 1.368 1 1 1 1
410-2-2 [m410-2-2-2|  62.76 | 61.085 | 61.085 | 1.675 1 1 1 1
410-2-2 [m410-2-2-3]  62.49 | 61.101 1.389 1 1 1
2t t AT f - fH fied | e fi& A

10 8 | 2 9 1 8 9
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©) ¢ 150 100 mm
\ S| e | ABAT (H=Hu+5 +-459) BXAT (H=Huf+5 1-40)
T e | wow | me| ERIEGES A 1 (H<1.40) 2 (1.41<1.80) 1 (1.81<2.50) 2 (2.51<3.30) 3(3.31<4.10)
*® 5 7 1[2]3]4afs]e]7]8f[1]2 3 4[5[6 7/ 8[1[2]3]4]s5[6]7]8][1]2 3 4[5/6 7 8[1]2 3 4/5[6 7 8
m m — [E515 %
M409-4-1-1 3.598 VU | 4
1 Mg | 409-1 [ M409-1-1 | 44.60 | 2.472 100 =
M409-1-1 2.452 VU | 4
2 Mg | 409-1 [ M409-1-2 | 40.80 | 2.169 100 =
M409-1-2 2.149 VU [ H 1
3 fiBh 1409-1-5[M409-1-5-1] 27.90 1.611 100 it
M409-1-5-1 1.360 vu | & 1
4 w8 [409-1-5[M409-1-5-2| 57.60 | 1.586 100 =
M409-1-5-2 1.360 VU | A 1
5 B [409-1-5[M409-1-5-3| 47.80 | 2.214 100 =
M409-1-5-3 1.360 VU | 4
6 e [409-1-3[M409-1-3-1] 22.90 | 1.383 100 =
M409-1-3-1 1.360 VU | 4
7 e [409-1-1{M409-1-1-1] 73.30 | 1.391 100 = 2
8
M409-4-1-1 1.662 VU | 4
9 B | 409-3 | M409-3-1 | 3.70 | 1.549 100 =
M409-3-1 1.549 VU | 4
10 B | 409-3 | M409-3-2 | 11.10 [ 1.360 100 =
11
M409-4-1-1 1.360 vu | &
12 Hah | 409-2 | M409-2-1 | 3.10 [ 1.360 100 =
M409-2-1 1.360 vu | A
13 B | 409-2 | M409-2-2 | 15.00 [ 1.385 100 =
M409-2-2 1.360 vu | A
14 B | 409-2 | M409-2-3 | 9.70 [ 1.362 100 =
15
M409-1-5-3 2.190 VU | &
16 B 409-1-4 7.40 | 2.084 100 =
2.084 VU [ A
17 B 409-1-4|M409-1-4-1] 0.70 [ 2.242 100 =
M409-1-4-1 1.360 VU | &
18 B 409-1-4 6.20 | 1.361 100 = 1
1.361 VU | A
19 B 409-1-4|M409-1-4-2[  9.80 [ 1.362 100 =
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@® 9150 100 mm
. AZAT (H=Hu+5 +-459) BEAT (H=Huf+5 +-459)
— )\}Lﬁﬁ m,—h?f,u E‘R{fm )Jrﬁj
T wn | w om s me| e | FER RS RSy 1 (H<1.40) 2 (1.41<1.80) 1 (1.81<2.50) 2 (2.51<3.30) 3 (3.31<4.10)
& 5 7 1]2]3]4]s]el7]sl1 23 4/5 6]7 s|1]2]3]4]s]6l7]8[1 2/3 4/5 6/7 8[1 2/3 4/5 6/7 8
m m — (£ JES5)
20
M409-1-3-1 1.362 VU | 4
21 HiBh |409-1-2 2.70 | 1.370 100 | /&
1.370 VU | A
22 HiBh |409-1-2|M409-1-2-1]  3.50 | 1.380 100 | /&
M409-1-2-1 1.360 VU | 4
23 B [409-1-2|M409-1-2-2] 29.20 [ 1.374 100 | A& |2
24
25
26
27
28
29
30
1B 1 2 2
Crid
HUjh 2 11
N 2 1111 2 2
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€9

©) ¢ 150 100 mm
JCELTE o CHAT (H=Huf+5 1-40) DAAT (H=Huf+5 +-459)
7= g | EE U -
7 Z sy | ® gL me| e | P B 1 (H<1.40) 2 (1.41<1.80) 1(1.81<2.50) 2 (2.51<3.30) 3 (3.31<4.10)
#* 5 1]2]3]4ls]el7]s]l1 2/3 45 6]/7 8[1]2]3]4]s]6[7]8]1 2/3 4/5 6/7 8[1 2/3 4/5 6/7 8
M409-4-1-1 3.598 vu | &
Mg | 409-1 [ M409-1-1 | 44.60 | 2.472 100 =
M409-1-1 2.452 vu | A&
Mg | 409-1 [ M409-1-2 | 40.80 | 2.169 100 =
M409-1-2 2.149 vu | A&
fiBh 1409-1-5[M409-1-5-1| 27.90 1.611 100 it
M409-1-5-1 1.360 VU | A 1
fiBh 1409-1-5[M409-1-5-2| 57.60 1.586 100 s
M409-1-5-2 1.360 vu | &
B [409-1-5[M409-1-5-3| 47.80 | 2.214 100 /e
M409-1-5-3 1.360 vu | &
e [409-1-3[M409-1-3-1] 22.90 | 1.383 100 =
M409-1-3-1 1.360 vu | &
MiBh 1409-1-1{M409-1-1-1| 73.30 1.391 100 s
M409-4-1-1 1.662 vu | &
B | 409-3 | M409-3-1 | 3.70 | 1.549 100 =
M409-3-1 1.549 vu | A&
B | 409-3 | M409-3-2 | 11.10 [ 1.360 100 £ |1
M409-4-1-1 1.360 vu | &
Hah | 409-2 | M409-2-1 | 3.10 [ 1.360 100 =
M409-2-1 1.360 vu | A
B | 409-2 | M409-2-2 | 15.00 1.385 100 /e
M409-2-2 1.360 vu | A
B | 409-2 | M409-2-3 | 9.70 [ 1.362 100 = 1
M409-1-5-3 2.190 VU | A
B 1409-1-4 7.40 | 2.084 100 /e
2.084 VU | A
B 409-1-4|M409-1-4-1] 0.70 [ 2.242 100 /e
M409-1-4-1 1.360 VU | A
B 409-1-4 6.20 | 1.361 100 /e
1.361 VU | A
B 409-1-4|M409-1-4-2[ 9.80 [ 1.362 100 /e
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O) ¢ 150 100 mm
) CEAT (H= 8 L40) DA (H=HU4% 1-4%9)
— )\}Lﬁﬁ m,—h(m_‘ E‘R{fm )Jl_“jj
T wn | wom g me| e | FER RS RSy 1 (H<1.40) 2 (1.41<1.80) 1(1.81<2.50) 2 (2.51<3.30) 3 (3.31<4.10)
& 5 7 1]2]3]4ls]el7]s]l1 2/3 45 6]/7 8[1]2]3]4]s]6[7]8]1 2/3 4/5 6/7 8[1 2/3 4/5 6/7 8
20
M409-1-3-1 1.362 vu | &
21 | B |409-1-2 2.70 | 1.370 100 | f&
1.370 VU | &
22 | By |409-1-2|M409-1-2-1] 3.50 | 1.380 100 | #&
M409-1-2-1 1.360 vu | &
23 | Wih |409-1-2|M409-1-2-2| 29.20 | 1.374 100 | #&
24
25
26
27
28
29
30
Alis) 1
Crid
Bl 11
2ff 11 1
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©) ¢ 150 100 mm
F—x AL e ] 22 1 (H<1.20) 2(1 Efj;;o) (H:mﬁﬁfﬁg 20) 4(2.21<3.00) Eie
P = e = 3 . . . . . . . Ford. >
F o PO | B WAL w B T”LM1|2|3|4|5|6|7|81\2\3\4\5\6\7\81|2|3|4|5|6|7|81\2\3\4\5\6\7\8
m m — [ES15I e | Bk
M409-4-1-1 3.598 vu | &
Mg | 409-1 [ M409-1-1 | 44.60 | 2.472 100 =
M409-1-1 2.452 vu | A&
Mg | 409-1 [ M409-1-2 | 40.80 | 2.169 100 =
M409-1-2 2.149 VU | A 1
fiBh 1409-1-5[M409-1-5-1| 27.90 1.611 100 it
M409-1-5-1 1.360 VU | A 2
fiBh 1409-1-5[M409-1-5-2| 57.60 1.586 100 s
M409-1-5-2 1.360 VU | A 1
B [409-1-5[M409-1-5-3| 47.80 | 2.214 100 =
M409-1-5-3 1.360 vu | &
e [409-1-3[M409-1-3-1] 22.90 | 1.383 100 =
M409-1-3-1 1.360 vu | &
e [409-1-1{M409-1-1-1] 73.30 | 1.391 100 = 2
M409-4-1-1 1.662 vu | &
B | 409-3 | M409-3-1 | 3.70 | 1.549 100 =
M409-3-1 1.549 vu | A&
B | 409-3 | M409-3-2 | 11.10 [ 1.360 100 = 1
M409-4-1-1 1.360 vu | &
Hah | 409-2 | M409-2-1 | 3.10 [ 1.360 100 =
M409-2-1 1.360 vu | A
B | 409-2 | M409-2-2 | 15.00 [ 1.385 100 =
M409-2-2 1.360 vu | A
B | 409-2 | M409-2-3 | 9.70 [ 1.362 100 = 1
M409-1-5-3 2.190 VU | A
B 1409-1-4 7.40 | 2.084 100 /e
2.084 VU | A
B 409-1-4|M409-1-4-1] 0.70 [ 2.242 100 /e
M409-1-4-1 1.360 VU | A
B 409-1-4 6.20 | 1.361 100 = 1
1.361 VU | A
B 409-1-4|M409-1-4-2[ 9.80 [ 1.362 100 /e
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©) 9150 100 mm
. EXAT (H=Huf+5& +-459)
— )\}Lﬁﬁ pts N fets] )Jl_ﬁ]
T—H P e EYIERES B T 1 (H<1.20) 2 (1.21<2.00) 3(2.01<2.20) 4 (2.21<3.00)
S X [l
& 5| K| E ML) R T 23l 4]5]6 781123 4.5 6 7.8|1]2]3]4]5]6]7]8|1/23 4 5 67 8
m m — ]
20
M409-1-3-1 1.362 vu | &
21 weh [409-1-2 2.70 | 1.370 100 =
1.370 VU | A
22 e [409-1-2[M409-1-2-1] 3.50 | 1.380 100 =
M409-1-2-1 1.360 vu | &
23 B 409-1-2|M409-1-2-2] 29.20 | 1.374 100 =
24
25
26
27
28
29
30
B
/El\§+ Y3
HAM
N
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@) ¢ 150 100 mm
) AZAT (H=H+4& +-459) BAAT (H=Hu+8 +-459)
= )\ﬂ:ﬁﬂ ;«:/:,E?m H‘K{#,A:A: )7 r’-’TJ
F—x s | ® | AL me | e ERERES B 1 (H<1.40) 2 (1.41<1.80) 1(1.81<2.50) 2 (2.51<3.30) 3 (3.31<4.10)
& 5 7 1]2]3]4]s]e6l7]s8]l12/3 4/5 6/7 8l1]2]3]4]5]6]7]8]1 2/3 4/5 6/7 81 2/3 4 5 6 7 8
m m — &S558 AT
BERM.411-1-1 1.374 vuU A
1 B [410-2-5[M.410-2-5-1] 27.10 | 1.709 100 =
M.410-2-5-1 1.709 VU | A 1
2 e [410-2-5 8.70 | 1.605 100 I
1.605 VU | A
3 wiBh [410-2-5[M.410-2-5-2| 7.80 | 1.511 100 =
M.410-2-5-2 1.487 VU | A
4 B [410-2-5[M.410-2-5-3| 10.90 | 1.599 100 I
M.410-2-5-3 1.599 VU | A
5 MHBh  |410-2-5| M.410-2-5-4| 17.90 [ 1.616 100 I 1
M.410-2-5-4 1.596 VU | A
6 wHlh  1410-2-5| M.410-2-5-5] 16.90 [ 1.627 100 /=
M.410-2-5-5 1.627 VU HH
7 Ml 1410-2-5| M.410-2-5-6] 15.00 [ 1.528 100 s 1
M.410-2-5-6 1.508 VU HH
8 Mlh  1410-2-6|M.410-2-6-1] 9.40 [ 1.421 100 s
M.410-2-6-1 1.421 vu | A
9 weh [410-2-6[ M.410-2-6-2]| 8.90 | 1.390 100 ps 1
M.410-2-6-2 1.390 vu | A
10 B 1410-2-6| M.410-2-6-3| 42.80 [ 1.360 100 p
11
M.410-2-5-6 1.405 VU | A
12 B 1410-2-4| M.410-2-4-1] 3.00 [ 1.360 100 p
M.410-2-4-1 1.360 VU | A
13 B 1410-2-4| M.410-2-4-2 9.50 | 1.382 100 p
M.410-2-4-2 1.382 VU | A
14 B 1410-2-4| M.410-2-4-3] 8.20 | 1.375 100 =
M.410-2-4-3 1.375 VU | A
15 B 410-2-4| M.410-2-4-4] 16.50 [ 1.390 100 p
M.410-2-4-4 1.390 vu | A
16 B 1410-2-4| M.410-2-4-5 4.00 [ 1.387 100 p
M.410-2-4-5 1.387 vu | A
17 B 1410-2-4| M.410-2-4-6] 7.00 [ 1.360 100 p
18
M410-2-1-3 1.360 vu | A
19 B 1410-2-2) M410-2-2-1[ 3.50 | 1.368 100 =
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¢ 150

100 mm

B4 N
i

5
3

N LI
R

I

A7

771
A

AZAT

(H=Hf5 - #)

BAAT

H=B+E +-#)

1 (H<1.40)

2 (1.41<1.80)

1(1.81<2.50)

2 (2.51<3.30)

3(3.31<4.10)

1]2]3]4]5]6]7]s

1

2,3 4,5 6/ 7/8

1]2]3]4]5]6]7]8

1

2.3 4. 5/6 7/ 8|1

2134 5 678

g

5]

T

(T

20

HAl

410-2-2

M410-2-2-1

1.368

M410-2-2-2

1.675

vu

100

21

HAl

410-2-2

M410-2-2-2

1.675

M410-2-2-3

1.389

vu

100

il el Y

22

23

24

25

26

27

28

29

B

E

S
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@) ¢ 150 100 mm
) CHAT (H=Huf+ +-4k9) DEAT (H=H 4 +-440)
= )\ﬂ:ﬁﬂ ;«:/:,E?m H‘K{#,A:A: )7 r’-’TJ
T —X ko | @ & | gl me | mE TR B 1 (H<1.40) 2 (1.41<1.80) 1(1.81<2.50) 2 (2.51<3.30) 3(3.31<4.10)
& 5 7 123456781/ 2/3 4/5 6/7 8]1]2]3]4]s5]6]7]8]1 2/3 4/5 6/7 81 2/3 4/ 5 67 8
m m «— /“’“Fﬁ- /IﬁlFﬁ'
BERM.411-1-1 1.374 vuU A
1 s [410-2-5[M.410-2-5-1] 27.10 | 1.709 100 =
M.410-2-5-1 1.709 VU | A
2 e [410-2-5 8.70 | 1.605 100 I
1.605 VU | A
3 B [410-2-5[M.410-2-5-2| 7.80 | 1.511 100 =
M.410-2-5-2 1.487 VU | A
4 B [410-2-5[M.410-2-5-3| 10.90 | 1.599 100 ps 1
M.410-2-5-3 1.599 VU | A
5 Ml 1410-2-5| M.410-2-5-4| 17.90 [ 1.616 100 s
M.410-2-5-4 1.596 VU | A
6 Ml |410-2-5| M.410-2-5-5] 16.90 [ 1.627 100 /=
M.410-2-5-5 1.627 VU HH
7 Ml 1410-2-5| M.410-2-5-6] 15.00 [ 1.528 100 s
M.410-2-5-6 1.508 VU HH
8 wHeh [410-2-6[ M.410-2-6-1] 9.40 [ 1.421 100 /e
M.410-2-6-1 1.421 vu | A
9 weh [410-2-6[ M.410-2-6-2] 8.90 | 1.390 100 /e
M.410-2-6-2 1.390 vu | A
10 B 1410-2-6]/ M.410-2-6-3| 42.80 [ 1.360 100 p
11
M.410-2-5-6 1.405 VU | A
12 B 1410-2-4| M.410-2-4-1] 3.00 [ 1.360 100 p
M.410-2-4-1 1.360 VU | A
13 B 1410-2-4| M.410-2-4-2] 9.50 | 1.382 100 p
M.410-2-4-2 1.382 VU | A
14 B 1410-2-4| M.410-2-4-3] 8.20 | 1.375 100 =
M.410-2-4-3 1.375 VU | A
15 B 410-2-4| M.410-2-4-4] 16.50 [ 1.390 100 p
M.410-2-4-4 1.390 vu | A
16 B 1410-2-4| M.410-2-4-5] 4.00 | 1.387 100 p
M.410-2-4-5 1.387 vu | A
17 B 1410-2-4| M.410-2-4-6] 7.00 [ 1.360 100 p
18
M410-2-1-3 1.360 vu | A
19 B 1410-2-2) M410-2-2-1[ 3.50 | 1.368 100 =
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¢ 150

100 mm

B4 N
i

5
3
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R

I

A7

J7 1)
i

CHAT

(H=B+E +-#9)

DAAT

(H=H % 1-429)

1 (H<1.40)

2(1.41<1.80)

1(1.81<2.50)

2 (2.51<3.30)

3(3.31<4.10)

1]2]3]4]5]6]7]8]1

2134 5 678

1]2]3]4]s5]6]7]8]1

2.3 4. 5/6 7/ 8|1

2.3 45 6 7|8

i

(T

20

HAl

410-2-2

M410-2-2-1

1.368

M410-2-2-2

1.675

vu

100

21

HAl

410-2-2

M410-2-2-2

1.675

M410-2-2-3

1.389

vu

100

il el Y

22

23

24
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27
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B

E
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@) ¢ 150 100 mm
=y AL ey st ] 271 1 (H<1.20) 2(12;?;27 ;)0) (H:mﬁﬁzi o%}fz)z 20) 4(2.21<3.00) Eit |
& | P OB ML &S| B T(’Mﬁ”1|2|3|4|5|6|7|8123456781|2|3|4|5|6|7|812345678 f
m m — f& Ft e | HEek
BERM.411-1-1 1.374 vuU A
1 s [410-2-5[M.410-2-5-1] 27.10 | 1.709 100 =
M.410-2-5-1 1.709 VU | A 1
2 e [410-2-5 8.70 | 1.605 100 I
1.605 VU | A
3 B [410-2-5[M.410-2-5-2| 7.80 | 1.511 100 =
M.410-2-5-2 1.487 VU | A
4 B [410-2-5[M.410-2-5-3| 10.90 | 1.599 100 ps 1
M.410-2-5-3 1.599 VU | A
5 Ml 1410-2-5| M.410-2-5-4| 17.90 [ 1.616 100 I 1
M.410-2-5-4 1.596 VU | A
6 Ml |410-2-5| M.410-2-5-5] 16.90 [ 1.627 100 /=
M.410-2-5-5 1.627 VU HH
7 Ml 1410-2-5| M.410-2-5-6] 15.00 [ 1.528 100 I 1
M.410-2-5-6 1.508 VU HH
8 wHeh [410-2-6[ M.410-2-6-1] 9.40 [ 1.421 100 ps
M.410-2-6-1 1.421 vu | A
9 weh [410-2-6[ M.410-2-6-2] 8.90 | 1.390 100 ps 1
M.410-2-6-2 1.390 vu | A
10 B 1410-2-6]/ M.410-2-6-3| 42.80 [ 1.360 100 p
11
M.410-2-5-6 1.405 VU | A
12 B 1410-2-4| M.410-2-4-1] 3.00 [ 1.360 100 p
M.410-2-4-1 1.360 VU | A
13 B 1410-2-4| M.410-2-4-2] 9.50 | 1.382 100 p
M.410-2-4-2 1.382 VU | A
14 B 1410-2-4| M.410-2-4-3] 8.20 | 1.375 100 =
M.410-2-4-3 1.375 VU | A
15 B 410-2-4| M.410-2-4-4] 16.50 [ 1.390 100 p
M.410-2-4-4 1.390 vu | A
16 B 1410-2-4| M.410-2-4-5] 4.00 | 1.387 100 p
M.410-2-4-5 1.387 vu | A
17 B 1410-2-4| M.410-2-4-6] 7.00 [ 1.360 100 p
18
M410-2-1-3 1.360 vu | A
19 B 1410-2-2) M410-2-2-1[ 3.50 | 1.368 100 =
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@)

@) ¢ 150 100 mm
LR ] o EXAT (H= 14 +-40)
75 | e o | pr BIETE EWT%?T:r 1 (H<1.20) 2 (1.21<2.00) 3 (2.01<2.20) 4 (2.21<3.00) Eiiie=3|
4 S el
& | P | F R EE " 1]2]3]4]s5]e6]7]8]1 2/3 4/5 67 8]1]2]3]4]5]6]7]8]1 2/3 4/5 67 8
m m — &P Y ek
M410-2-2-1 1.368 VU [ A
Bl [410-2-2] M410-2-2-2| 18.00 | 1.675 100 | %
M410-2-2-2 1.675 VU | & 1
21 H 4.50 100 | &
22
23
24
25
26
27
28
29
30
8
B )
HLjh

S




)

% Fa &t = £
B2 —{EREEHR
(% Bh)
- BAETFRE
i T P s
7%77/1/}\%@%)#&@ t=15cm 843.8 0.04 m 0.02 0.68 m3
0.68 m3
(Eah)
- BRAEBERE
i T B ot
7%77/1/}\%@%}#&@ t=<15cm 262.2 m 0.04 m X 0.02 0.21 m3




B EHEZE
(#figh) f+ % T
% BR K JNEF
(X E#E )
LRSS
{4, - FEHR t=15cm Ll =
FMAlHR
L2 = 45
4.5
B iR BRI
L3 =
4.5
FRWT A
A FE R t=45cm L1 = +
L2 =
LRSS
ERERE t=15cm L = 210 2.1
SR
ERERE t=30cm L= 89 8.9
=R} T A T4
KE1-Fe 5305 | t=15cmifiE Ll = +
Hin#~—7
L2 =
1EFEh
L3 =
g BB 40
RKEI G5 30F | t=15cm#alE L =
LREAS
T (- FERR t=15cm L




Gl

% ® FH " O #F
BN
(]
+ M409-1-5-1 ~ M409-1-5-2 L= 576 m
+ M409-1-3-1 ~ M409-1-1-1 L= 73.3 m
~ L= m
~ L= m
~ L= m
~ L= m
~ L= m
~ L= m
~ L= m
~ L= m
&t L= 1309 m




